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In ������ �	
� Book 2, L21, is the following sentence: 
 

�
�� �������� ���
������� ������������� ���
�	�  �!"���#""%�&�" '(���) ��%*�+"�#��� ������&,��� �-�+ ":�%/��."  

 

Why is the word  '(���)  manṣūb?  
 

»'(���)«  
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æÜÓé×ÂÝøŠÖ]<<     
 

 

This is a maṣdar which functions as ḥāl as in  
 

 �34�5�6'"*�7�+    

 

i.e.,  '"*�8"�+.  

 
» '(���)« is for  » ��"�)'(« i.e., exchanging. 

 

In the sentence: 

 

�
�� �������� ���
������� �������� �!"���#����� ���
�	� ""%�&�" '(���) �-�+ ....  

 

» '(���)« is for  »�-9*����"�)«   and ṣāḥibu l-ḥāl is:  .�������  
 

It is equal to: 
 

�
�� �������� ���
������� �������� �!"���#����� ���
�	� ""%�&�" �:����"�)������&,��� �-�+  ...  

 

 
 
 

ÝøŠÖ]æ, 

abdur rahim 

Faḍīlat al-Shaykh Dr. V. Abdur Rahim )<=� �>?@(  replies: 
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